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Josh has 3 prize tokens. Anna wins 7 prize tokens.
How many tokens do they have altogether?
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There are 5 cars in the car park. 4 more cars park in
the car park. How many cars are there altogether?

Answer:
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There are 6 birds in a tree and 7 birds are in the next
tree. How many birds are in the tree altogether?

Answer:
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Megan has 4 sweets and mum gives her 2 more. Sam has 2 old pencils. She gets 8 new pencils for
How many sweets does she have altogether? her birthday. How many pencils does she have
altogether?
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Tom's dad has 4 chocolate bars and Tom has 9 A dog has 5 sticks and finds 3 more. How many
chocolate bars. How many chocolate bars do they sticks does the dog have altogether?

have altogether?

Answer: Answer:
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Ben eats 6 strawberries at breakfast and 3

strawberries at lunch. How many strawberries did
he eat altogether?

Answer:
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There are 5 cars in the car park. 4 more cars park in
the car park. How many cars are there altogether?

Answer:

Addition Word Problem Challenge Cards : Answers *

There are 6 birds in a tree and 7 birds are in the next
tree. How many birds are in the tree altogether?

Answer:
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Josh has 3 prize tokens. Anna wins 7 prize tokens.
How many tokens do they have altogether?

Answer:
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Megan has 4 sweets and mum gives her 2 more.
How many sweets does she have altogether?

Answer:
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Sam has 2 old pencils. She gets 8 new pencils for

her birthday. How many pencils does she have
altogether?

Tom's dad has 4 chocolate bars and Tom has 9

chocolate bars. How many chocolate bars do they
have altogether?

Answer: Answer:
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A dog has 5 sticks and finds 3 more. How many
sticks does the dog have altogether?

Ben eats 6 strawberries at breakfast and 3

strawberries at lunch. How many strawberries did
he eat altogether?

Answer: Answer:
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